Kahoot
Quiz

The correct answers are underlined.
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Which of these is NOT an element of a fairy tale?

magical elements

good wins over evil

have an evil character

story happens in the present

Which of the following settings can be found in a fairy tale?

a forest

a movie theater
a school

Mc Donalds

Fairy tales have only evil characters.

TRUE
FALSE

In fairy tales evil always wins good.

FALSE
TRUE

Which of the following could be a way to start a fairy tale?

Last week

Once upon a time

And they lived happily ever after
Tomorrow

Which fairy tale has an enchanted rose?

Beauty and the Beast
Rapunzel

Snow White
Cinderella

Which princess loses her shoe in a ball?

Cinderella
Bella
Rapunzel
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Aurora
In which fairy tale there’s a girl who wears a red riding hood?

Snow White

Goldilocks and the three bears
Little Red Riding Hood

The princess and the pea

Which fairy tale has a red apple?

Sleeping beauty
Rapunzel

Snow White
Cinderella

10.Which fairy tale is Maleficent from?
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Sleeping beauty

The princess and the pea
Beauty and the Beast
Little Red Riding Hood



